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Answer: A 

QUESTION: 102 

Which Entity Type is shown here?
 

A. Icon
B. Male
C. Picture
D. Event Frame

Answer: B 

QUESTION: 103 
An intelligence analyst is entering an identity for an entity. After the identity is 
entered, the Identity field turns red. 
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What does this indicate? 

A. There is a typographical error in the identity.
B. The Identity field does not allow for all capital letters.
C. This identity is already used for another entity on the chart.
D. There are not enough characters entered in the Identity field.

Answer: C 

QUESTION: 104 

Review the following image: 
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What are "A", "AB", "B", "O" and "Unknown", in the image above? 

A. Attribute Entries
B. Attribute Classes
C. Analysis Attributes
D. Automatic Attributes

Answer: A 

QUESTION: 105 
Examine the image here: 
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Given the choices below, where is the BEST location to put the highlighted 
characteristic information so it can be used with Visual Search? 

A. Cards 
B. Attributes 
C. Description 
D. Database Instances 

Answer: B 

QUESTION: 106 
An analyst is importing telephone data to Analyst's Notebook. The analyst uses 
one of the columns as the identity of a phone, and a yellow triangle appears in 
several rows where the telephone number is missing. Which of the following 
actions at the Assign Column step will allow valid telephone data to be imported 
into Analyst's Notebook? 

A. The telephone data needs to be removed from the identity. 
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B. Parenthesis and dashes need to be added to the phone numbers.
C. The telephone data needs to be moved into the representation field.
D. Nothing needs to be done; only valid telephone entities will be created.

Answer: D 

76



Download Full Version From https://www.certkillers.net

Pass your exam at First Attempt....Guaranteed!


